Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
	No work relating to redistricting or other work for current or previous clients during the past 10 years that could present the			
Renne Public Law Group (RPLG)	appearance of a conflict in connection with the defense of the CRC maps.		No federal or California lobbying activity	
Renne Public Law Group (RPLG)	Lobbying in CA in the last 10 years includes lobbying work for the cities of: Belmont, Carlsbad, Corona, Eastvale, Foster City, Redwood City, and San Gabriel - not related to redistricting or elections (Confirmed)		No federal or California contributions on behalf of the firm	
Renne Public Law Group (RPLG)	Lobbying in CA in the last 10 years includes lobbying work for: The League of California Cities, Interwest Consulting Group, Stockton East Water District, Feather River Recreation & Park District, CA Public Private Alliance, and Cruz Strategiesnot related to redistricting or elections (Confirmed)			
Renne Public Law Group (RPLG)	No contributions on behalf of the firm in the last 10 years			
Jonathan (Jon) Holtzman (Active CA Bar #99795 - Admitted Dec. 1981)			No federal or California lobbying activity	
Jonathan (Jon) Holtzman, Founding Partner & project lead attorney	8.27.2020: Biden Victory Fund in the amount of \$2,800		1.2.2021: Jon Ossoff for Senate	\$250.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney	8.27.2020: DNC Services Corp	\$125.00	12.22.2020: Jon Ossoff for Senate	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			11.30.2020: DNC Services Corp/	
lead attorney			Democratic National Committee	\$50.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11:30.2020: Jon Ossoff for Senate	\$50.00
Jonathan (Jon) Holtzman,			11.26.2020: DNC Services Corp/	
Founding Partner & project			Democratic National Committee (\$125	
lead attorney			x 2)	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.25.2020: ACTBLUE (\$125 x 2)	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.25.2020: Jon Ossoff for Senate	\$125.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.24.2020: ACTBLUE (\$125 x 2)	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			11.24 & 11.18.2020: Warnock for	
lead attorney			Georgia (\$125 x 2)	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.18.2020: ACTBLUE (\$125 x 2)	\$250.00
Jonathan (Jon) Holtzman,			11.1.2020: DNC Services Corp/	
Founding Partner & project			Democratic National Committee (\$50 x	
lead attorney			2)	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.31.2020: Biden for President	\$50.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.31.2020: ACTBLUE (\$50 x 2)	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			10.30 & 10.29.2020: ACTBLUE (\$50 +	
lead attorney			\$25)	\$75.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.29.2020: SMP	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.20.2020: SMP (\$100 x 2)	\$200.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.20.2020: ACTBLUE (\$100 x 2)	\$200.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.9.2020: ACTBLUE	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			10.8.2020: DNC Services Corp/	
lead attorney			Democratic National Committee	\$125.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.8.2020: ACTBLUE	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.5.2020: Biden for President	\$125.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.5.2020: ACTBLUE (\$125 x 2)	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.4.2020: ACTBLUE	\$25.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jonathan (Jon) Holtzman,				
Founding Partner & project			9.27.2020: DNC Services Corp/	
lead attorney			Democratic National Committee	\$12.50
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			9.24-9.27.2020: ACTBLUE (\$50 x 2)	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			9.19 & 9.20.2020: ACTBLUE (\$100 x	
lead attorney			3)	\$300.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			9.12.2020: Hickenlooper for Colorado	
lead attorney			(100 x 2)	\$200.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			9.12.2020: ACTBLUE (\$100 x 3)	\$300.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			8.21.2020: ACTBLUE	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			8.10.2020: Mark Kelly for Senate	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			8.4.2020: ACTBLUE	\$100.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			7.31.2020: DNC Services Corp/	
lead attorney			Democratic National Committee	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			3.23.2020: ACTBLUE	\$25.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			3.23.2020: Mark Kelly for Senate	\$250.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jonathan (Jon) Holtzman,				
Founding Partner & project			10.1.2019: Kamala Harris for the	
lead attorney			People	\$500.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			11.9.2018: DNC Services Corp/	
lead attorney			Democratic National Committee	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.7.2018: ACTBLUE	\$12.50
Jonathan (Jon) Holtzman,				
Founding Partner & project			10.14.2018: It Starts Today (\$1.82 +	
lead attorney			\$16.61)	\$18.43
Jonathan (Jon) Holtzman,				
Founding Partner & project			7.9.2018: DNC Services Corp/	
lead attorney			Democratic National Committee	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			11.1.2016: Hillary for America	\$500.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.19.2016: Hillary Victory Fund	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.19.2016: Hillary for America	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project			9.19.2016: Bryan Caforio for	
lead attorney			Congress	\$250.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			8.25.2014: ACTBLUE	\$35.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			10.6.2012: Obama for America	\$281.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			6.28.2012: Obama for America	\$500.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			6.28.2012: Obama Victory Fund	\$500.00
Jonathan (Jon) Holtzman,				
Founding Partner & project				
lead attorney			No California contributions	
Linda Ross (Active CA Bar				
#133874 - Admitted June			No federal or California lobbying	
1988)			activity	
Linda Ross, Partner, project				
writs, appeals & litigation			10.27.2020: Montanans for Bullock	
proceedings team			(\$100 x 2)	\$200.00
Linda Ross, Partner, project				
writs, appeals & litigation				
proceedings team			6.5.2018: Montanans for Tester	\$250.00
Linda Ross, Partner, project				
writs, appeals & litigation				
proceedings team			No California contributions	
Arthur (Art) Hartinger (Active				
CA Bar #121521 - Admitted			No federal or California lobbying	
Dec. 1985)			activity	
Arthur (Art) Hartinger,				
Founding Partner			4.28.2011: Webb for Congress	\$500.00
Arthur (Art) Hartinger,				
Founding Partner			No California contributions	
Jenica Maldonado (Active CA	2014- Jan 2021: Deputy City			
Bar #266982 - Admitted Dec.	Attorney for the San Francisco		No federal or California lobbying	
2009)	City Attorney's Office		activity	
Jenica Maldonado, Of Counsel,				
project writs, appeals &				
litigation proceedings team			2.28.2020: ACTBLUE	\$28.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Jenica Maldonado, Of Counsel,				
project writs, appeals &				
litigation proceedings team			2.20.2020: ACTBLUE	\$18.00
Jenica Maldonado, Of Counsel,				
project writs, appeals &				
litigation proceedings team			No California contributions	
Ryan McGinley-Stempel	Sept - Nov 2020: Volunteer for			
(Active CA Bar #296182 -	Democratic Party's Voter		No federal or California lobbying	
Admitted April 2014)	Protection Hotline (20-30 hours)		activity	
	Previous employment with			
Ryan McGinley-Stempel,	Gibson, Dunn & Crutcher: during			
Senior Associate, project writs,	this time he represented two			
appeals & litigation	clients adverse to the State of			
proceedings team	California		No federal or California contributions	
Imran Dar (Active CA Bar				
#326502 -Admitted June			No federal or California lobbying	
2019)			activity	
Imran Dar, Associate, litigation				
proceedings team			11.1.2020: CAL for NC	\$100.00
Imran Dar, Associate, litigation				
proceedings team			11.1.2020: ACTBLUE	\$100.00
Imran Dar, Associate, litigation				
proceedings team			10.25.2020: CAL for NC	\$100.00
Imran Dar, Associate, litigation				
proceedings team			10.25.2020: ACTBLUE	\$100.00
Imran Dar, Associate, litigation				
proceedings team			10.18.2020: CAL for NC	\$100.00
Imran Dar, Associate, litigation			10.18 & 10.11.2020: ACTBLUE (\$100	
proceedings team			x 2)	\$200.00
Imran Dar, Associate, litigation				
proceedings team			10.4.2020: ACTBLUE	\$100.00
Imran Dar, Associate, litigation				
proceedings team			9.27.2020: ACTBLUE (\$100 x 7)	\$700.00

Name / Firm and Individuals	Disclosed in RFI Response	Amount Disclosed	Not Detailed in RFI Response	Amount Not Detailed
Imran Dar, Associate, litigation			9.15.2020: Amy McGrath for Senate	
proceedings team			Inc.	\$500.00
Imran Dar, Associate, litigation				
proceedings team			No California contributions	
Michael Cohen (Law Clerk - Bar # n/a)	Aug - Dec 2020: UCLA Law's environmental law clinic participant which included unpaid work for CA Senator Henry Stern		No federal lobbying or contributions activity	
Michael Cohen, Law Clerk, project voting rights expertise			No California lobbying or contributions	
GRAND TOTALS:		\$2,800.00		\$12,155.43